Suction Pots

\

Suction Pots to suit W200 / NEW77 / AZ1

P

(=} ; | L -, Part No. Description Parts to Suit
p = @ PCL.7B3 Suction Pot 700ml 3/8” Aluminium 94904302 Dripless Insert,

94008300 Lid Packing

l | PCL.10B3 Suction Pot 1000ml 3/8” Aluminium 94904302 Dripless Insert,

I l | 94008300 Lid Packing

T = @ ] | @ @ LA.1000 2SPRAY Suction Pot 1000ml LLA.1000D Dripless Insert,
. 3/8” Aluminium LA.1000S Lid Packing

SNNO AVHdS NOILONS

Suction Pots to suit W101

i Part No. Description Parts to Suit

PCL.7B2 Suction Pot 700ml 1/4” Aluminium 94904302 Dripless Insert,
94008300 Lid Packing

®@ ®

PCL.10B2 Suction Pot 1000ml 1/4” Aluminium 94904302 Dripless Insert,
94008300 Lid Packing

©)
©)

NY.250 2SPRAY Suction Pot 250ml 1/4”
Nylon

Suction Pots to suit PS.FR100

Part No. Description Parts to Suit

@ PS.FR100P Suction Pot 250ml Aluminium

Lid Packing & Dripless Inserts

>
=
(1]
()
=
<
Q
=
Q
>
c
0
—
=
o
5.

Part No. Description

94008300 Lid Packing PCL Pots Pkt2 - ID 68mm OD 88mm

LA.1000S Lid Packing LA 1000 Pots Pkt2 - ID 76mm OD 88mm

94904302 Dripless Insert PCL Pot Pkt2 - ID 63mm OD 72mm

©@e@®e

LA.1000D Dripless Insert LA.1000 Pot Pkt2 - ID 73mm OD 89mm

—
W
(=]
o
N
N
N
~
N
©
S
S
<
Q
=
(13
0
=
L
s
Q
=
D
(2]
(]
3
Q
c




